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Chapter 10: Review for Quiz 10.1-10.5, omit 10.4 (IC/HW) Date: \jériod:

1. Find the seventh term of the sequence.

b 577 2,4

2. Find the fourth term of the recurs defined infinite sequence.
a1 = 185, aj1 = 72k @ 35 |

A, = t(185) (%2
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3. Consider the sequence defined recursively by ag: or-dia-=-9r Cnumber does this sequence

approach as k increases? 4 @
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4. The number of bacteria in a certain culture is 500, and the culture doubles in size every day. Find the
number of bacteria present after three days.

0 — ;nikia/) = 500 s
| — ohy/] = 1000 A,, =500(2)
2 W_Q’,b;'{“z - 2000
(3 oy 3 = ’7‘000 ,_f)

5. Find the flfth term the tenth term, and thew f.the arithmetic sequence.
4,7,10,13, ... " Ag =/
, xz3 45

a, =4, y(n-1)d ﬁ,, = ‘;‘}{/7—/)3
4+ [10-1)3 = Y+ 3p-3

}7/ +27 = ﬁ/z - /""5’)
70 _

=23/



6. Find the sum of the arithmetic sequence Sn that satisfies the stated conditions.
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7.“Fnd the sum. 7 pé:i ($1: -f_,_—% Z[?—)J*(?—Z*’Q?J

2000 40 47 =11 ] 14+ 03] "

8. Find the sum. ﬂ,, = ’}Z 4 : ﬁ ‘S‘h— = %[2(‘,;) ‘}‘(23"%5)]

28 1
a,. 15 | o~

¥ 2oar? Gt

9. A contest will have five cash prizes totaling $9,000, and there will be a $400 difference betweepn,successive
prizes. Find the first prize. J5 = o0 Gov0 = __25;[24/ .;.(5,/)(_.4(”)?5

A= 0 (2) G = £ (25 +-100)

— 2600 = 24, /600

v 5200= 24, 2009"‘-;—)

10. Assuming air resistance is negligible, a small object that is dropped from a air balloon falls 19 feet
during the first second, 57 feet during the second second, 95 feet during the third second, 133 feet during the

010, 2200, 160,40, g

fourth second, and so on. Find an expression for the distance the object falls in n seconds.

19, 5%93, /33} . m ¢ 2’-‘-(381'1)

ez il - 222t n)d]
A 2 (2119 (p38) = H(H )




11. Find the seventh term of the geometric sequence.
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12. Express the sum in terms of summatlon notation. BT

%<4 § 8 16438264 Z&rn ’{ -é Z[J}H l)

13. Insert two geometric means between 9 and 243.

Yy —= ) —, 225 Op=0,r""!
Elo 213 247"
19

27=r 3)
14. Rewrite as an expression that does not contain factorials.
G+ 2l (5n+2)(5n+1)[5n)]
(5n)! — = (517 +2)(5h@
l5rl/) ,/

15. Use the binomial theorem to expand and simplify.

oeye (2)[2x V() (3 )2 (- 7)"’(3)(24()’)} (3)(297- Y
& )(%3)(’) i (3)(%2')( Y) +3[zx)(y2‘) F1(1)- y’)

@Ay*(ﬂxy 73)

16. Use Pascal's Triangle to simplify. J @‘}_ L’_m3n +(,m2nl+q mnj*ﬂm
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